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QUESTION 1

Which three Hadoop distributions are supported on Oracle Cloud Infrastructure (OCI)?
A. Pivotal EMC

B. Apache Hadoop

C. Hortonworks

D. MapR

E. Cloudera

Correct Answer: BCE

QUESTION 2

What two types of workloads can benefit from Cluster Networking (RDMA)?
A. Computational Fluid Dynamic

B. Monte Carlo Risk analysis

C. Movie Rendering

D. HPC File Server

Correct Answer: BD

QUESTION 3

You are building a file system that needs to handle large files with a lot of nodes reading at the same time. What should
be your main goal?

A. Maximize Latency while keeping throughput above a certain threshold.
B. Maximize throughput.

C. Minimize latency.

D. Minimize throughput while keeping the latency low.

Correct Answer: B

QUESTION 4

A customer ran a Job on 2 BM.HPC2.36, and the job took 4 hours using 32 cores of each node. They later ran on 4
nodes and the Job took 3 hours. What Is the efficiency gained?
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A. 100%
B. 50%
C. 66%
D. 75%

Correct Answer: B

QUESTION 5

Which two Oracle Cloud Infrastructure (OCI) storage options are supported for direct HDFS use in Hadoop?
A. Block Volume

B. Object Storage

C.FSS

D. DenselO NVMe

Correct Answer: CD
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